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Type-1

1. In a circle of radius 13 cm, a chord is aat
a distance of 5 cm from its centre. What
is the length of the chord?

13 lseh f=kT;k okys ,d o`Ùk esa blds dsUnz ls 5
lseh dh nwjh ij ,d thok gSA thok dh yackbZ D;k
gS\

SSC CGL 12 June 2019 (Afternoon)

(a) 18 cm (b) 20 cm

(c) 12 cm (d) 24 cm

2. In a circle of radius 17 cm, a chord is at
a distance of 15 cm from the centre of
the circle. What is the length of the
chord?

17 lseh f=kT;k okys ,d o`Ùk esa] o`Ùk ds dsUnz ls 15
lseh dh nwjh ij ,d thok gSA thok dh yackbZ Kkr djsaA

SSC CGL 12 June 2019 (Morning)

(a) 5 cm (b) 12 cm

(c) 8 cm (d) 16 cm

3. A chord 21 cm long is drawn in a circle
diameter 25 cm. The perpendicular
distance of the chord from the centre is:

21 lseh yach ,d thok] 25 lseh O;kl okys o`Ùk esa
[khaph tkrh gSA dsUnz ls thok dh yacor~ nwjh Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 41 (b) 23

(c) 56 (d) 46

4. Two concentric circle are of radius 15 cm
and 9 cm. What is the length of the chord
of the larger circle which is tangent to the
smaller circle?

f=kT;k 15 lseh rFkk 9 lseh okys nks ladsUnzh o`Ùk gSaA
cM+s o`Ùk dh thok dh yackbZ fdruh gksxh tks NksVs
o`Ùk ij Li'kZ js[kk gS\

SSC CGL 2 July 2019 (Morning)

CIRCLE (o`Ùk)
(PRACTICE SHEET)

https://t.me/RankersGurukulLive

https://youtube.com/c/RankersGurukul SSC CGL 19 Maths-227/200

(a) 24 cm (b) 18 cm

(c) 20 cm (d) 25 cm

5. Two concentric cicles are of radii 13 cm
and 5 cm. The length of the chord of the
larger circle which touches the smaller
circle is :

nks ladsUnzh o`Ùkksa dh f=kT;k 13 lseh rFkk 5 lseh gSA
cM+s o`Ùk dh thok dh yackbZ Kkr dhft, tks NksVs
o`Ùk dks Li'kZ djrh gSA

SSC CHSL 12/10/2020 (Afternoon)

(a) 24 cm (b) 15 cm

(c) 13 cm (d) 10 cm

6. The radii of two concentric circles are
12cm and 13 cm. AB is diameter of the
bigger circle. BD is tangent to a smaller
circle touching is at D. Find the length
(in cm) of AD? (correct to one decimal
place)

nks ladsfUnzr o`Ùkksa dh f=kT;k,¡ 12 lseh vkSj 13 lseh
gSA  AB cM+s o`Ùk dk O;kl gSA BD NksVs o`Ùk dh Li'kZ
js[kk gS tks bls fcUnq D ij Li'kZ djrh gSA AD dh
yackbZ (lseh esa) Kkr djsa (n'keyo ds ,d LFkku
rd lgh)

SSC CGL 2020 (Tier-I)

(a) 24.5 (b) 23.5

(c) 22.5 (d) 17.6

7. Two circles with the same centre P have
redii 7.5 cm and 4.4 cm. Through a point
A of the larger circle, a tangent is drawn
to the smaller circle touching it at B. Find
AC (Approximate in cm).

nks ladsfUnzr o`Ùk ftudh f=kT;k,¡ 7.5 lseh vkSj 4.4

lseh gSA cM+s o`Ùk ds fcUnq A ls ,d Li'kZ js[kk [khapk
tkrk gS tks NksVs o`Ùk ds B ij Li'kZ djrk gSA AC

dh yackbZ Kkr djsa (lseh esa vuqekfur)A
SSC CHSL 18/03/2020 (Evening)

(a) 14 cm (b) 12.14 cm

(c) 14.27 cm (d) 13 cm
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Type-2

8. Let O be the centre of a circle and AC be
its diameter. BD is a chord intersecting
AC at E. Point A is joined at B and D.
If BOC = 50º and AOD = 110º, then
BEC = ?

eku yhft, fd O ,d o`Ùk dk dsUnz gS rFkk AC

bldk O;kl gSA BD ,d thok gS tks AC dks E ij
dkVrh gSA fcUnq A dks B vkSj D ij feyk;k tkrk gSA
;fn BOC = 50º vkSj AOD = 110º gS] rks
BEC = ?

SSC CGL 10 June 2019 (Morning)

(a) 80º (b) 70º

(c) 55º (d) 90º

9. In a circle with centre O, A diameter AB
and a chord CD intersect each other at
E, AC and AD are joined. If BOC = 48º
and AOD = 100º, then what is the
measure of CEB?

dsUnz O okys ,d o`Ùk esa O;kl AB rFkk thok CD

,d&nwljs dks E ij dkVrs gSaA AC rFkk AD dks feyk;k
tkrk gSA ;fn BOC = 48º vkSj AOD = 100º

gS rks CEB dk eku Kkr djsaA
SSC CHSL 3 July 2019 (Evening)

(a) 72º (b) 74º

(c) 78º (d) 82º

10. A, B and C are three points on a circle
such that the angles subtended by the
chord AB and AC at the centre O are 110º
and 130º respectively. Then the value of
BAC is :

A, B vkSj C ,d o`Ùk ij fLFkr rhu ,sls fcUnq gSa fd
thok AB vkSj AC ds }kjk dsUnz O ij varfjr fd;s
x, dks.k Øe'k% 110º rFkk 130º gSA BAC dk
eku gS %

SSC CGL 3 March 2020 (Morning)

(a) 70º (b) 75º

(c) 60º (d) 65º

11. Two chords AB and CD of a circle with
centre O intersect each other at P. If
APC = 95º and AOD = 110º, then what
BOC is :

dsUnz O okys ,d o`Ùk dh nks thok,¡ AB rFkk CD gS
tks ,d&nwljs dks P ij izfrPNsn djrh gSA ;fn APC

= 95º rFkk AOD = 110º gS] rks BOC dk eku
D;k gksxk\

SSC CGL 5 March 2020 (Morning)

(a) 65º (b) 70º

(c) 60º (d) 55º

12. In the given figure, if KLN = 58º, then
KMN = ?

fn;s x;s fp=k esa ;fn KLN = 58º, rks KMN = ?

K

L M

N

SSC CGL 5 March 2020 (Evening)

(a) 58º (b) 42º

(c) 26º (d) 32º

13. In the given figure, O is the centre of the
circle. If angle PRQ = 64º, then what is
the measure of angle OPQ?

fn, x, vkÑfr esa O o`Ùk dk dsUnz gSA ;fn dks.k
PRQ = 64º gS] rks dks.k OPQ dk eki D;k gS\

64º

O

P Q

R

SSC CHSL 15/10/2020 (Afternoon)

(a) 26º (b) 32º

(c) 64º (d) 60º

14. The tangent at a point A of a circle with

centre O intersect the diameter PQ of the

circle (when extended) at the point B. If

BAP = 125º, then AQP is equal to :

dsUnz O ds lkFk ,d o`Ùk ds fcUnq A ij Li'kZjs[kk]
fcUnq B ij o`Ùk ds O;kl PQ (tc foLrkfjr) dks
dkVrh gSA ;fn BAP = 125º gS] rks AQP dk
eku Kkr djsaA

SSC CHSL 20/10/2020 (Evening)

(a) 50º (b) 55º

(c) 60º (d) 45º

15. In a circle with centre O, AB is the

diameter and CD is a chord such that

ABCD is a trapezium. If BAC = 40º, then

CAD is equal to :

dsUnz O okys ,d o`Ùk esa AB O;kl gS vkSj CD ,d
,slh thok gS fd ABCD leyEc gSA ;fn BAC =

40º gS] rks CAD Kkr djsaA
SSC CGL 10 June 2019 (Afternoon)

(a) 15º (b) 20º

(c) 50º (d) 10º

https://t.me/mathsbyadityaranjan
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16. In a circle with centre O, AB is a diameter
and CD is a chord such that ABCD is a
trapezium. If BAC = 15º, then CAD is
equal to :

dsUnz O okys ,d o`Ùk esa AB O;kl gS rFkk CD ,slh
thok gS fd ABCD ,d leyEc cu tkrk gSA ;fn
BAC = 15º gS] rks CAD dk eku D;k gksxk\

SSC CGL 10 June 2019 (Evening)

(a) 30º (b) 60º

(c) 75º (d) 45º

17. In a circle of radius 10 cm, with centre
O, PQ and PR are two chords each of
length 12 cm. PO intersects chrod QR at
the points S. The length of OS is :

f=kT;k 10 lseh rFkk dsUnz O okys ,d o`Ùk esa] PQ

vkSj PR nks thok,¡ gSa ftuesa ls izR;sd dh yackbZ 12

lseh gSA PO thok QR dks fcUnq  S ij dkVrh gSA
OS dh yackbZ gS %

SSC CGL 4 June 2019 (Morning)

(a) 2.8 cm (b) 2.5 cm

(c) 3.2 cm (d) 3 cm

18. In a circle of radius 10 cm and centre O.
PQ and PR are two equal chrods, each of
length 12 cm. What is the length (in cm)
of chord QR?

dsUnz O rFkk f=kT;k 10 lseh okys o`Ùk esa PQ vkSj
PR nks cjkcj thok,a gSa ftuesa ls izR;sd dh yackbZ
12 lseh gSA thok QR dh yackbZ D;k gS\

SSC CGL 7 June 2019 (Afternoon)

(a) 18.6 (b) 20.4

(c) 18.4 (d) 19.2

Type-3

19. From an external point P, a tangent PQ
is drawn to a circle, with centre O,
touching the circle at Q. If the distance
of P from the centre is 13 cm and the
length of the tangent PQ is 12 cm, then
the radius of the circle is :

,d ckgjh fcUnq P ls dsUnz O okys o`Ùk ij ld Li'kZ
js[kk PQ [khaph tkrh gS] tks o`Ùk dks Q ij Li'kZ
djrh gSA ;fn dsUnz ls P dh nwjh 13 lseh gS rFkk
Li'kZ js[kk PQ dh yackbZ 12 lseh gS] rks o`Ùk dh
f=kT;k fdruh gksxh\

SSC CGL 9 March 2020 (Evening)

(a) 3 cm (b) 5 cm

(c) 10 cm (d) 12.5 cm

20. In a circle with center O and radius 10

cm, PQ and RS are two parallel chords of

length x cm and 12 cm respectively and

both the chords are on the opposite sides

of O. If the distance between PQ and RS

is 14 cm, the value of x is :

dsUnz O f=kT;k 10 lseh okys ,d o`Ùk esa] PQ vkSj
RS nks lekukarj thok,a gSa ftudh yackbZ Øe'k% x
vkSj 12 lseh gSA nksuksa thok,a O ds foijhr fn'kk esa
gSaA ;fn PQ vkSj RS ds chp dh nwjh 14 lseh gS rks
x dk eku Kkr djsaA

SSC CGL 6 June 2019 (Evening)

(a) 16 (b) 20

(c) 15 (d) 18

21. Two chords AB and CD of length 5 cm and

11 cm respectively, are parallel and are

on the same side of the center O of a

circle. If the distance between the chords

is 3 cm, then what is the diameter of the

circle?

yackbZ Øe'k% 5 lseh vkSj 11 lseh dh nks thok,a
AB vkSj CD lekukarj gSa rFkk o`Ùk ds dsUnz O ds
,d gh rjiQ fLFkr gSA ;fn thokvksa ds chp dh nwjh
3 lseh gS] rks o`Ùk dk O;kl D;k gksxk\

SSC CGL 7 June 2019 (Evening)

(a) 37 cm (b) 146  cm

(c) 142  cm (d) 38 cm

22. In a circle two equal and parallel chords

are 6 cm apart and lie on the opposite

sides of the centre of the circle. If the

length of each chord is 8 cm, then the

radius of the circle is :

,d o`Ùk esa nks cjkcj vkSj lekukarj thok,¡ 6 lseh
ds nwjh ij gS vkSj o`Ùk ds dsUnz ds foijhr Hkkx ij
fLFkr gSA ;fn izR;sd thok,¡ dh yackbZ 8 lseh gS] rks
o`Ùk dh f=kT;k gS &

SSC CHSL 13/10/2020 (Evening)

(a) 5 cm (b) 7 cm

(c) 3 cm (d) 2 cm

23. Two parallel chords are drawn in a circle

of diameter 20 cm. The length of one

chord is 16 cm and the distance between

the two chords is 12 cm. The length of

the other chord is :

,d o`Ùk esa nks lekukarj thokvksa dks [khapk tkrk gS]
ftldk O;kl 20 lseh gSA ,d thok dh yackbZ 16
lseh gS rFkk nksuksa thokvksa ds chp dh nwjh 12 lseh
gSA nwljh thok dh yackbZ fdruh gS\

SSC CHSL 13/10/2020 (Evening)

(a) 20 (b) 18

(c) 16 (d) 12

https://t.me/mathsbyadityaranjan
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24. In the figure, O is the centre of the circle
of radius 29 cm, OP  AB, OQ  CD and
AB is parallel to CD. If AB = 40 cm and
CD = 42 cm, then the length of PQ is :

nh xbZ vkÑfr esa O o`Ùk dk dsUnz gS ftldh f=kT;k
29 lseh gS] OP  AB, OQ  CD vkSj AB, CD ds
lekukarj gSA ;fn AB = 40 lseh vkSj CD = 42 lseh
gS] rks PQ dh yackbZ gS %

A B

C D

P

Q

O

SSC CHSL 21/10/2020 (Evening)

(a) 32 (b) 20

(c) 41 (d) 21

25.  In a circle with center O and radius 5 cm,
AB and CD are two parallel chords of
lengths 6 cm and x cm, respectively and
the chords are on the opposite side of the
centre O. The distance between the
chords is 7 cm. What is the value of x?

O dsUnz vkSj 5 lseh f=kT;k okys o`Ùk esa AB vkSj CD

Øe'k% 6 lseh vkSj x lseh yackbZ dh nks lekukarj
thok,¡ gSa vkSj thok,¡ O dsUnz dh foijhr fn'kk esa gSA
thokvksa ds chp dh nwjh 7 lseh gSA x dk eku Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 12 (b) 8

(c) 10 (d) 9

26. In a circle with centre O, AB and CD are
two parallel chords on the same side of
the diameter. If AB = 12 cm, CD = 18 cm
and distance between the chords AB and
CD is 3 cm, then find the radius of the
circle (in cm).

dsUnz O okys o`Ùk esa] AB vkSj CD O;kl ds ,d gh
i{k esa nks lekukarj thok,¡ gSaA ;fn AB = 12 lseh]
CD = 18 lseh vkSj thokvksa AB vkSj CD ds chp
dh nwjh 3 lseh gS] rks o`Ùk dh f=kT;k (lseh esa) Kkr
djsaA

SSC CGL 2020 (Tier-I)

(a) 15 (b) 12

(c) 3 13 (d) 9

27. In a circle with centre O, PAX and PBY
are the tangents to the circle at points A
and B, from an external point P. Q is any
point on the circle such that QAX = 59°
and QBY = 72°. What is the measure of
AQB?

O dsUnz okys o`Ùk esa] PAX vkSj PBY ,d cká fcUnq
P ls fcUnq A vkSj B ij o`Ùk dh Li'kZ js[kk,¡ gSaA o`Ùk
ij ,d fcUnq O bl izdkj gS fd QAX = 59°

vkSj QBY = 72° gSA AQB dk eki Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 31º (b) 72º

(c) 59º (d) 49º

28. AB and CD are two parallel chords of a
cirle such that AB = 6 cm and CD = 2AB.
Both chords are on the same side of the
centre of the circle. If the distance
between is equal to one-fourth of the
length of CD, then the radius of the circle
is :

AB vkSj CD fdlh o`Ùk dh nks ,slh lekukarj thok,a
gSa fd AB = 6 lseh vkSj CD = 2AB gSA nksuksa thok,a
o`Ùk ds dsUnz ds ,d gh rjiQ gSaA ;fn chp dh nwjh
CD dh yackbZ ds ,d&pkSFkkbZ ds cjkcj gS] rks o`Ùk
dh f=kT;k Kkr djsaA

SSC CGL 4 June 2019 (Evening)

(a) 3 5  cm (b) 4 3  cm

(c) 4 5  cm (d) 3  cm

29. PRT is a tangent to a circle with centre
O, at the point R on it. Diameter SQ of
the circle is produced to meet the tangent
at P and QR is joined. If QRP = 28º, then
the measure of SPR is :

PRT ,d o`Ùk] ftldk dsUnz O gS] ij fLFkr fcUnq R
ls tkus okyh Li'kZ js[kk gSA o`Ùk ds O;kl SQ dks
c<+k;k tkrk gS tks Li'kZ js[kk ls P ij feyrk gS rFkk
QR dks feyk;k tkrk gSA ;fn QRP = 28º gS] rks
SPR dk eku D;k gksxk\

SSC CGL 4 March 2020 (Afternoon)

(a) 29º (b) 34º

(c) 62º (d) 32º

30. AB is the diameter of a circle with centre
O. The tangent at a point C on the circle
meets AB produced at Q. If CAB = 42º,
then what is the measure of CQA ?

AB ,d o`Ùk dk O;kl gS ftldk dsUnz O gSA o`Ùk ij
fLFkr ,d fcUnq C ls xqtjus okyh Li'kZ js[kk AB ls
Q ij feyrh gSA ;fn CAB = 42º gS] rks CQA

dk eku D;k gksxk\
SSC CGL 7 March 2020 (Afternoon)

(a) 5º

(b) 7º

(c) 6º

(d) 17º

https://t.me/mathsbyadityaranjan
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31. In the figure, PA is a tangent from an
external point P to the circle with centre
O. If POB = 110º, then the measure of
APO is :

nh xbZ vkÑfr esa PA fdlh ckgjh fcUnq P ls dsUnz
O okys òÙk ij [khaph x;h Li'kZ js[kk gSA ;fn POB

= 110º gS] rks APO dk eku D;k gksxk\

A

B

OP

SSC CGL 9 March 2020 (Morning)

(a) 30º (b) 40º

(c) 25º (d) 20º

32. PAQ is a tangent to a circle with centre
O, at a point A on it. AB is a chord such
that BAQ = xº (x < 90º). C is a poihnt on
the major arc AB such that ACB = yº. If
ABO = 32º, then the value of x + y is :

PAQ dsUnz O okys ,d o`Ùk ij fLFkr fcUnq A ls tkus
okyh Li'kZ js[kk gSA AB ,d ,slh thok gS fd BAQ

= xº (x < 90º). C cM+h pki AB ij fLFkr ,d
,lslk fcUnq gS fd ACB = yº gSA ;fn ABO =

32º gS] rks x + y  dk eku D;k gksxk\
SSC CGL 3 March 2020 (Morning)

(a) 98 (b) 112

(c) 110 (d) 116

Type-4

33. A circle is inscribed in ABC, touching AB
at P, BC at Q and AC at R. If AR = 5 cm,
RC = 6 cm and AB = 12 cm, then
perimeter of ABC is :

,d o`Ùk fdlh f=kHkqt ABC esa lekfgr gS tks AB

dks P ij] BC dks Q ij rFkk AC dks R ij Li"kZ
djrk gSA ;fn AR = 5 lseh, RC = 6 lseh vkSj AB

= 12 lseh gS rks ABC ifjeki Kkr djsaA
SSC CGL 6 June 2019 (Morning)

(a) 40 cm (b) 32 cm

(c) 37 cm (d) 36 cm

34. PA and PB are tangents to a circle with
centre O, from a point P outside the circle
and A and B are points on the circle. If
PAB = 40º, then OAB is equal to :

PA rFkk PB ,d o`Ùk ds ckgj fLFkr fcUnq P ls o`Ùk
dh Li'kZ js[kk,a gSa ftldk dsUnz O gS rFkk A vkSj B
o`Ùk ij fLFkr fcUnq gSaA ;fn PAB = 40º gS] rks
OAB dk eku Kkr djsaA

SSC CGL 13 June 2019 (Evening)

(a) 50º (b) 20º

(c) 25º (d) 40º

35. PA and PB are two tangents to a circle
with centre O from a point P outside the
circle. A and B are points on the circle.
If OAB = 35º, then APB is equal to :

PA vkSj PB dsUnz O okys ,d òÙk dh nks Li'kZ js[kk,a
gSa tks o`Ùk ds ckgj fLFkr fcUnq P ls fudyh gSA A
vkSj B o`Ùk ij fLFkr nks fcUnq gSaA ;fn OAB =

35º gS] rks APB fdlds cjkcj gksxk\
SSC CPO 16 March 2019 (Morning)

(a) 70º (b) 20

(c) 25º (d) 35º

36. PA and PB are two tangents from a point
P outside a circle with centre O. If A and
B are points on the circle such that APB
= 80º, then OAB is equal to :

PA vkSj PB dsUnz O okys o`Ùk ds ckgj fLFkr fcUnq
P ls fudyh nks Li'kZ js[kk,¡ gSaA ;fn A vkSj B o`Ùk
ij fLFkr ,sls nks fcUnq gSa fd APB = 80º gS] rks
OAB dk eku D;k gksxk\

SSC CPO 12 March 2019 (Evening)

(a) 55º (b) 45º

(c) 50º (d) 40º

37. PA and PB are the tangents to a circle
with centre O, from a point P outside the
circle. A and B are the points on the
circle. If PAB  = 72º then OAB is equal
to :

PA vkSj PB ,d o`Ùk ij o`Ùk ds ckgj fLFkr fcUnq P
ls [khaph xbZ Li'kZ js[kk,a gSa ftldk dsUnz O gSA A
rFkk B o`Ùk ij fLFkr fcUnq gSaA ;fn PAB  = 72º

gS] rks OAB dk eku Kkr djsaA
SSC CHSL 8 July 2019 (Evening)

(a) 72º (b) 24º

(c) 18º (d) 36º

38. A circle is inscribed inside a triangle ABC.
It touches sides AB, BC and AC at the
points P, Q and R respectively. If BP = 6.5
cm, CQ = 4.5 cm and AR = 5.5 cm, then
the perimeter (in cm) of the triangle ABC is

,d o`Ùk fdlh f=kHkqt ABC ds Hkhrj fLFkr gSA ;g
Hkqtkvksa  AB, BC vkSj AC dks Øe'k% fcUnq P, Q

vkSj R ij Li'kZ djrk gSA ;fn BP = 6.5 lseh] CQ

= 4.5 lseh vkSj AR = 5.5 lseh gS] rks f=kHkqt ABC

dk ifjeki (lseh esa) D;k gksxk\
SSC CGL 4 July 2019 (Afternoon)

(a) 16.5 (b) 66

(c) 33 (d) 22

https://t.me/mathsbyadityaranjan
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39. A circle is inscribed in a triangle ABC. It
touches sides AB, BC and AC at the points
P, Q and R respectively. If BP = 8.5 cm,
CQ = 6.5 cm and AR = 4.5 cm, then the
perimeter (in cm) of the ABC is :

,d o`Ùk fdlh f=kHkqt ABC ds Hkhrj fLFkr gSA ;g
Hkqtkvksa AB, BC vkSj AC dks Øe'k% fcUnq P, Q vkSj
R ij Li'kZ djrk gSA ;fn BP = 8.5 lseh] CQ =

6.5 lseh vkSj AR = 4.5 lseh gS] rks ABC dk
ifjeki Kkr djsaA

SSC CHSL 4 July 2019 (Evening)

(a) 35 (b) 49.5

(c) 39 (d) 33

40. PA and PB are two tangents from a point
P outside a circle with centre O. If A and
B are points on the circle such that APB
= 110º, then OAB is equal to :

PA vkSj PB dsUnz O okys o`Ùk ds ckgj fLFkr fcUnq
P ls fudyh nks Li'kZ js[kk,¡ gSaA ;fn A vkSj B o`Ùk
ij fLFkr ,sls nks fcUnq gSa fd APB = 110º gS] rks
OAB dk eku D;k gksxk\

SSC CPO 13 March 2019 (Evening)

(a) 45º (b) 55º

(c) 70º (d) 35º

41. PA and PB are two tangents from a point
P outside a circle with centre O. If A and
B are points on the circle. If OAB = 20º,
then APB is equal to :

PA vkSj PB dsUnz O okys o`Ùk ds ckgj fLFkr fcUnq
P ls fudyh nks Li'kZ js[kk,¡ gSaA A vkSj B o`Ùk ij
fLFkr nks fcUnq gSaA ;fn OAB = 20º gS] rks APB

dk eku D;k gksxk\
SSC CPO 14 March 2019 (Morning)

(a) 25º (b) 50º

(c) 20º (d) 40º

42. PA and PB are two tangents from a point
P outside a circle with centre O. If A and
B are points on the circle. If APB = 86º,
then AB is equal to :

PA vkSj PB dsUnz O okys o`Ùk ds ckgj fLFkr fcUnq
P ls fudyh nks Li'kZ js[kk,¡ gSaA A vkSj B o`Ùk ij
fLFkr nks fcUnq gSaA ;fn APB = 86º gS] rks OAB

dk eku D;k gksxk\
SSC CPO 14 March 2019 (Morning)

(a) 43º (b) 45º

(c) 50º (d) 20º

43. In the given figure, AP and PB are
tangents to a circle with cnetre O. If
APB = 62º, then the measure of AQB
is :

nh xbZ vkÑfr esa AP vkSj PB o`Ùk dh Li'kZ js[kk,¡ gSa
ftldk dsUnz O gSA ;fn APB = 62º gS rks AQB

dk eku D;k gksxk\

A

B

PQ O

SSC CGL 3 March 2020 (Evening)

(a) 28º (b) 59º

(c) 31º (d) 118º

44. In the figure, two circles with centres P
and Q touch externally at R. Tangents AT
and BT meet the common tangent TR at
T. If AP = 6 cm and PT = 10 cm, then BT
= ?

nh xbZ vkÑfr esa] nks o`Ùk ftuds dsUnz P rFkk Q gSa]
os ,d&nwljs dks ckgj ls R ij Li'kZ djrs gSaA Li'kZ
js[kk,¡ AT rFkk BT mHk;fu"B Li'kZ js[kk TR ls T ij
feyrh gSA ;fn AP = 6 lseh rFkk PT = 10 lseh gS
rks BT = ?

A
B

P Q
R

T

SSC CGL 5 March 2020 (Evening)

(a) 6 cm (b) 12 cm

(c) 8 cm (d) 10

45. In the given figure if APO = 35º, then
which of the following options is correct?

nh xbZ vkÑfr es a ;fn APO = 35º gS] rks
fuEufyf[kr esa ls dkSu lk fodYi lgh gksxk\

A

B

O P

SSC CGL 6 March 2020 (Afternoon)

(a) APB = 60º

(b) BPO = 35º

(c) BPO = 55º

(d) APB = 80º
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46. In the following figure (not to scale), at
the centre O, if the chord AB subtends
doubled the angle that is subtended by
chord CD and the angle AEB = 2AOB,
the COD is equal to :

fuEufyf[kr vkÑfr (;g iSekus ds vuqlkj ugha gS)
esa dsUnz O ij ;fn thok AB, thok CD dh rqyuk esa
varfjr fd;s x, dks.k dh rqyuk esa nksxquk dks.k varfjr
djrh gS vkSj AEB = 2AOB gS] rks COD

fdlds cjkcj gS\

A

B

C

D E

O

SSC CHSL 13/10/2020 (Afternoon)

(a) 30º (b) 45º

(c) 60º (d) 75º

47. Two tangents AP and AQ are drawn to a
circle with centre O from an external
point A, where P and Q are points on the
circle. If AP = 12 cm and PAQ = 60º,
then the length of chord PQ is :

nks Li'kZ js[kk AP vkSj AQ ,d ckgjh fcUnq A ls
dsUnz O ds lkFk ,d o`Ùk esa [khaps tkrs gSa] tgk¡ P

vkSj Q o`Ùk ij fLFkr fcUnq gSA ;fn AP = 12 lseh
vkSj PAQ = 60º gS rks thok,¡ PQ dh yackbZ gS %

SSC CHSL 14/10/2020 (Morning)

(a) 12 cm (b) 10 cm

(c) 24 cm (d) 16 cm

48. Two tangents AP and AQ are drawn to a
circle with centre O from an external
point A, where P and Q are points on the
circle. If AP = 12 cm and PAQ = 70º,
then the AOP is equal to

nks Li'kZ js[kk AP vkSj AQ ,d ckgjh fcUnq A ls
dsUnz O ds lkFk ,d o`Ùk esa [khaps tkrs gSa] tgk¡ P

vkSj Q o`Ùk ij fLFkr fcUnq gSA ;fn AP = 12 lseh
vkSj PAQ = 60º gS rks AOP dk eku gS %

SSC CHSL 14/10/2020 (Morning)

(a) 50º (b) 45º

(c) 55º (d) 60º

49. A is a point at a distance 26 cm from the
centre O of a circle of radius 10 cm. AP
and AQ are the tangents to the circle at
the point of contacts P and Q. If a tangent
BC is drawn at a point R lying on the
minor are PQ to intersect AP at B and AQ
at C, then the perimeter of ABC is :

f=kT;k 10 lseh ds o`Ùk ds dsUnz O ls 26 lseh dh
nwjh ij A ,d fcUnq gSA AP vkSj AQ fcUnq P vkSjk
Q ij Li'kZ js[kk gSA ;fn Li'kZ js[kk BC o`Ùk ds PQ

ekbuj dks R ij dkVrh gS vkSj PA dks B ij vkSj
PQ dks C ij izfrPNsfnr djrh gS] rks ABC dh
ifjf/ gS %

SSC CHSL 20/10/2020 (Morning)

(a) 40 cm (b) 48 cm

(c) 46 cm (d) 42 cm

50. Two tangents PA and PB are drqwn from
an external point P to a circle with centre
O at the point A and B respectively on it,
such that APB = 120º and AP = 12.5 cm,
the length of OP is :

nks Li'kZjs[kk,¡ PA vkSj PB ,d ckgjh fcUnq P ls ,d
fcUnq ij Øe'k% dsUnz A vkSj B ij O ds lkFk o`Ùk
dh vksj [khaph tkrh gS] tSls fd APB = 120º

vkSj AP = 12.5 lseh gS] rks OP dh yackbZ gS %
SSC CHSL 26/10/2020 (Evening)

(a) 24 cm (b) 25 cm

(c) 26 cm (d) 20 cm

51. A circle inscribed in a triangle ABC
touches its sides AB, BC and AC at the
points D, E and F respectively. If AB = 18
cm, BC = 15 cm and AC = 13 cm then the
value of AD + BE + CF is :

,d f=kHkqt ABC esa vafdr ,d o`Ùk Øe'k% AB, BC

vkSj AC Hkqtkvksa dks D, E rFkk F ij Li'kZ djrk gSA
;fn AB = 18 lseh] BC = 15 lseh vkSj AC = 13

lseh gS] rks  AD + BE + CF dk eku gS %
SSC CHSL 26/10/2020 (Evening)

(a) 25 (b) 33

(c) 23 (d) 20

52. PA and PB are tangents to the circle and
O is the centre of the circle. The radius
is 5 cm and PO is 13 cm. If the area of
the triangle PAB is M, then the value of

M

15
 is:

PA vkSj PB o`Ùk ds Li'kZjs[kk,¡ gSa vkSj O o`Ùk dk
dsUnz gSA f=kT;k 5 lseh vkSj PO = 13 lseh gSA ;fn

f=kHkqt  PAB dk {ks=kiQy M gS] rks 
15

M
 dk eku gS %

A

B

O
P
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SSC CHSL 18/03/2020 (Morning)

(a)
24

13
(b)

24

13

(c)
12

13
(d)

12

13

53. A circle is inscribed in the triangle ABC
whose sides are given as AB = 10, BC =
8, CA = 12 units as shown in the figure.
The value of AD × BF is :

f=kHkqt ABC esa ,d o`Ùk vafdr fd;k gqvk gS ftlds
fdukjs AB = 10, BC = 8, CA = 12 bdkbZ ds :i
esa fn, x, gSa tSlk fd fp=k esa fn[kk;k x;k gSA AD

× BF dk eku gS %

A

B

C
D

E F

SSC CHSL 18/03/2020 (Morning)

(a) 18 units (b) 21 units

(c) 16 units (d) 15 units

54. From an external point A, two tangents
AB and AC have been drawn to a circle
touching the circle at B and C
respectively. P and Q are points on AB
and AC respectively such that PQ touches
the circle at R. If AB = 11 cm, AP = 7 cm
and AQ = 9 cm, then find the length of
PQ (in cm).

,d o`Ùk ij cká fcUnq A ls] nks Li'kZ js[kk,¡ AB

vkSj AC [khaph xbZ gS] tks Øe'k% fcUnq B vkSj C ij
o`Ùk dks Li'kZ djrh gSA  AB vkSj AC ij P vkSj Q
Øe'k% bl izdkj fLFkr gS fd PQ o`Ùk dks fcUnq R

ij Li'kZ djrh gSA ;fn AB = 11 lseh] AP = 7 lseh
vkSj AQ = 9 lseh gS] rks PQ dh yackbZ (lseh esa)
Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 8 (b) 7

(c) 5 (d) 6

55.  Points A and B are on a circle with centre
O. PAM and PBN are tangents to the circle
at A and B respectively from a point P
outside the circle. Point Q is on the major
are AB such that QAM = 58° and QBN
= 50°, then find the measure (in degree)
of APB.

A vkSj B dsUnz O okys o`Ùk ij fLFkr fcUnq P ls
PAM vkSj PBN Øe'k% A vkSj B ij o`Ùk Li'kZ js[kk,¡
gSaA nh?kZ pki AB ij fcUnq Q  bl izdkj fLFkr gS fd
QAM = 58° vkSj QBN = 50° gSA APB dk
eki (fMxzh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 30 (b) 32

(c) 36 (d) 40

56. AB is a chord of a circle in minor segment

with centre O. C is a point on the minor

arc of the circle between the points A and

B. The tangents to the circle at A and B

meet at the point P. If ACB = 102°, then

what is the measure of APB?

AB, O dsUnz okys o`Ùk ds y?kq o`Ùk[kaM esa thok gSA
C, fcUnq A vkSj B ds chp ds o`Ùk ds y?kq pki ij
,d fcUnq gSA fcUnq A vkSj B ij o`Ùk dh Li'kZ js[-kk,¡
fcUnq P ij feyrh gSA ;fn ACB = 102° gS] rks
APB dk eki Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 27º (b) 29º

(c) 24º (d) 23º

57. Point P lies outside a circle with centre

O. Tangents PA and PB are drawn to meet

the circle at A and B respectively. If APB

= 80°, then OAB is equal to :

fcUnq O dsUnz okys o`Ùk ds ckgj fLFkr gSA Li'kZ js[kk,¡
PA vkSj PB Øe'k% A vkSj B ij o`Ùk ls feyrh gSA
;fn APB = 80° gS] rks OAB dk eku Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 140º (b) 40º

(c) 70º (d) 35º

58. A tangent is drawn from a point P to a

circle, which meets the circle at T such

that PT = 8cm. A secant PAB intersects

the circle in points A and B. If PA = 5 cm,

what is the length (in cm) of the chord

AB?

dksbZ Li'kZ js[kk fcUnq P ls o`Ùk ij [khaph tkrh gS rks
fcUnq T ij o`Ùk ls bl izdkj feyrh gS fd PT = 8

lseh gSA Nsnd js[kk PAB, o`Ùk dks fcUnq A vkSj B

ij izfrPNsfnr djrh gSA ;fn PA = 5 lseh gS] rks
thok AB dh yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 6.4

(b) 8.4

(c) 7.8

(d) 8.0
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Type-5

59. A circle is inscribed in quadrilatera
touching side AB, BC, CD and AD at the
points P, Q, R and S respectively. If BP =
4 cm, SD = 6 cm and BC = 7 cm, then the
length of DC is :

,d o`Ùk fdlh prqHkqZt ds Hkhrj fLFkr gS tks Hkqtkvksa
AB, BC, CD vkSj AD dks Øe'k% P, Q, R vkSj S
ij Li'kZ djrk gSA ;fn BP = 4 lseh] SD = 6 lseh]
BC = 7 lseh gS] rks DC dh yackbZ Kkr djsaA

SSC CGL 7 June 2019 (Morning)

(a) 8 cm (b) 9 cm

(c) 10 cm (d) 7 cm

60. A circle is inscribed in a quadrilatera
ABCD, touching sides AB, BC, CD and DA
at P, Q, R and S respectively. If AS = 8
cm, BC = 11 cm and CR = 5 cm, then the
length AB is equal to :

,d o`Ùk fdlh prqHkqZt ABCD ds Hkhrj fLFkr gS tks
Hkqtk AB, BC, CD rFkk DA dks Øe'k% P, Q, R

vkSj S ij Li'kZ djrk gSA ;fn AS = 8 lsseh] BC =

11 lseh vkSj CR = 5 gS] rks AB dh yackbZ Kkr djsaA
SSC CHSL 2 July 2019 (Evening)

(a) 12 cm (b) 13 cm

(c) 16 cm (d) 14 cm

61. Quadrilateral ABCD circumscribes a
circle. If AB = 8 cm, BC = 7 cm and CD =
6 cm, then the length of AD is :

prqHkqZt ABCD ,d o`Ùk dks pkjksa rjiQ ls ?ksjrk gSA
;fn AB = 8 lseh] BC = 7 lseh vkSj CD = 6 lseh
gS] rks AD dh yackbZ fdruh gksxh\

SSC CGL 3 March 2020 (Afternoon)

(a) 6 cm (b) 7.5 cm

(c) 7 cm (d) 6.8 cm

62. In the given figure, if AB = 10 cm, CD =
7 cm, SD = 4 cm and AS = 5 cm, then
BC = ?

nh xbZ vkÑfr esa] ;fn AB = 10 lseh] CD = 7

lseh] SD = 4 lseh rFkk AS = 5 lseh gS] rks BC =

?

A B

CD

P

Q

R

S

SSC CGL 5 March 2020 (Evening)

(a) 9 cm (b) 8 cm

(c) 6 cm (d) 7.5 cm

63. A circle touches all the four sides of
quadrilateral ABCD whose sides are AB =
8.4 cm, BC = 9.8 cm and CD = 5.6 cm The
length of side AD, in cm is:

,d o`Ùk AB = 8.4 lseh] BC = 9.8 lseh vkSj CD

= 5.6 lseh Hkqtkvksa okys ,d prqHkqZt ABCD dh
lHkh Hkqtkvksa dks Li'kZ djrk gSA Hkqtk AD dh yackbZ
(lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 4.9 (b) 4.2

(c) 3.8 (d) 2.8

64. A circle is inscribed in a quadrilateral
ABCD, touching sides AB, BC, CD and DA
at P, Q, R and S, respectively. If AS = 6
cm, BC = 12 cm, and CR = 5 cm, then the
length of AB (in cm) is:

,d o`Ùk ABCD prqHkqZt esa bl izdkj var%LFkkfir gS
fd bldh Hkqtk,¡ AB, BC, CD vkSj DA Øe'k% P,

Q, R vkSj S ij Li'kZ djrh gSA ;fn AS = 6 lseh]
BC = 12 lseh vkSj CR = 5 lseh gS] rks AB dh
yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 13 (b) 11

(c) 15 (d) 12

Type-6

65. In a circle with centre O, PQR is a tangent
at the point Q on it. AB is a chord in the
circle parallel to the tangent such that
BQR = 70º. What is the measure of
AQB?

dsUnz O okys ,d o`Ùk esa PQR bl ij fLFkr cUnq Q
ij ,d Li'kZ js[kk gSA AB o`Ùk esa ,d thok gS tks
Li'kZ js[kk ls bl izdkj lekukarj gS fd BQR =

70º gSA AQB dk eku Kkr djsaA
SSC CGL 7 June 2019 (Evening)

(a) 40º (b) 60º

(c) 55º (d) 35º

66. PAT is a tangent to a circle at a point A
on it, and AB is a chord such that BAT
= 72º. If C is a point on the circle such
that CBA = 58º, then what is the
measure of CAB?

PAT ,d o`Ùk ds fcUnq A ls bl ij [khaph xbZ Li'kZ
js[kk gS rFkk AB ,d ,slh thok gS fd BAT =

72º gSA ;fn C òÙk ij fLFkr ,slk fcUnq gS fd CBA

= 58º gS] rks CAB dk eku Kkr djsaA
SSC CHSL 2 July 2019 (Afternoon)

(a) 50º (b) 62º

(c) 48º (d) 60º
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67. O is the centre of a circle to which PAX
and PBY are tangents from a point P at
points A and B. Q is a point on the circle,
sush that QAX = 49º and QBY = 62º.
What is the measure of AQB?

O ,d o`Ùk dk dsUnz gS ftl ij PAX rFkk PBY

Li'kZ js[kk,a gSa tks fcUnq P ls A vkSj B ij [khaph xbZ
gSA Q o`Ùk ij fLFkr ,d fcUnq gS tks bl izdkj gS fd
QAX = 49º vkSj QBY = 62º gSA AQB dk
eku D;k gS\

SSC CHSL 3 July 2019 (Morning)

(a) 67º (b) 59º

(c) 69º (d) 63º

68. A and B are two points on a circle with
centre O. AT is a tangent such that BAT
= 45º. N is a point on OA, such that BN =
10 cm. The length of the median OM of
the NOB is :

A vkSj B dsUnz O okys ,d o`Ùk ij fLFkr nks fcUnq
gSaA AT ,d Li'kZ js[kk gS tks bl izdkj gS fd BAT

= 45º. N, OA ij fLFkr ,d fcUnq gS tks bl izdkj
gS fd  BN = 10 lseh gSA NOB dh ekfè;dk OM

dh yackbZ Kkr djsaA
SSC CHSL 10 Jully 2019 (Evening)

(a) 10 2  cm (b) 5 2  cm

(c) 5 3  cm (d) 5 cm

69. In the given figure, BC is a chord and CD
is a tangent tghrough the point C. If
AOC = 118º, then find the ACD.

nh xbZ vkÑfr esa BC ,d thok gS rFkk CD ,d
Li'kZ js[kk gS tks C ls tkrh gSA ;fn AOC = 118º

gS] rks ACD dk eku Kkr dhft,A

A B

CD

O

1
1
8

º 

SSC CHSL 12/10/2020 (Morning)

(a) 63º (b) 56º

(c) 65º (d) 59º

Type-7

70. Chords AB and CD of a circle when
produced, meet at point P outside the
circle. If AB = 6 cm, CD = 3 cm and PD =
5 cm, then PB is equal to :

,d o`Ùk dh thok,¡ AB vkSj CD dks tc c<+k;k
tkrk gS rks os o`Ùk ds ckgj fcUnq P ij feyrh gSA
;fn AB = 6 lseh] CD = 3 lseh vkSj PD = 5 lseh
gS] rks PB dk eku D;k gksxk\

SSC CGL 11 June 2019 (Morning)

(a) 6 cm (b) 6.25 cm

(c) 5 cm (d) 4 cm

71. Two chords, AB and CD of circle meet at
a point O, outside the circle. It is given
that AB = 7 cm, CD = 4 cm, OB = 5 cm.
What is the length of OD ?

,d o`Ùk dh nks thok,a AB vkSj CD fdlh fcUnq O

ij feyrh gSa tks o`Ùk ds ckgj gSA ;g fn;k x;k gS
fd AB = 7 lseh] CD = 4 lseh vkSj OB = 5 lseh
gSA OD dh yackbZ D;k gS\

SSC CHSL 11 Jully 2019 (Afternoon)

(a) 5 cm

(b) 6 cm

(c) 7.5 cm

(d) 10 cm

72. The chords AB and CD of a circle, when
produced, meet at a point P outside the
circle. If AB = 6 cm, PB = 5 cm and PD =
4 cm, then CD is equal to :

,d o`Ùk dh nks thokvksa AB vkSj CD dks tc c<+k;k
tkrk gS rks os o`Ùk ds ckgj fcUnq P ij feyrh gSA
;fn AB = 6 lseh] PB = 5 lseh vkSj PD = 4 lseh
gS] rks CD dk eku fdlds cjkcj gS\

SSC CGL 11 June 2019 (Aftenoon)

(a) 8.25 cm

(b) 7.5 cm

(c) 9.75 cm

(d) 7.75 cm

73. Diameter AB of a circle with centre O is
produced to point P such that PO = 16.5
cm. PQR is a secant which intersects the
circle at Q and R such that PQ = 123 cm
and PR = 19.2 cm. The length of AB (in
cm) is :

dsUnz O okys ,d o`Ùk ds O;kl AB dks fcUnq P rd
bl izdkj c<+k;k tkrk gS fd PO = 16.5 lseh gSA
PQR ,d Nsnd js[kk gS tks o`Ùk dks Q rFkk R ij
bl izdkj dkVrh gS fd PQ = 123 lseh vkSj PR =

19.2 lseh gSA AB dh yackbZ (lseh esa) fdruh gS\
SSC CGL 5 March 2020 (Afternoon)

(a) 15.8

(b) 14.2

(c) 15.2

(d) 14.4
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74. From a point P, outside a circle PAB is a
secant and PT is a tangent to the circle,
where A, B and T are points on the circle.
If PT = 5 cm, PA = 4 cm and AB = x, then
x is equal to :

o`Ùk ds ckgj ,d fcUnq P ls] PAB  ,d Nsnd js[kk
rFkk PT o`Ùk dh ,d Li'kZ js[kk gS ,oa A, B vkSj T
o`Ùk ij fLFkr fcUnq gSA ;fn PT = 5 lseh] PA = 4

lseh vkSj AB = x gS] rks x dk eku fdlds cjkcj
gksxk\

SSC CGL 10 June 2019 (Afternoon)

(a) 2.25 (b) 2.75

(c) 2.45 (d) 1.75

75. A secant is drawn from a point P to a
circle P to a circle so that it meets the
circle first at A, then goes through the
centre, and leaves the circle at B. If the
length of the tangent from P to the circle
is 12 cm, and the radius of the circle is
5 cm, then the distance from P to A is :

,d Nsnd js[kk dks ,d fcUnq P ls P ,d o`Ùk rd
[khapk tkrk gS rkfd og o`Ùk esa igys A ls fey
tk,] fiQj dsUnz ls gksdj tkrk gS vkSj B ij o`Ùk
NksM+rk gSA ;fn  P ls o`Ùk dh Li'kZjs[kk dh yackbZ 12

lseh vkSj o`Ùk dh f=kT;k 5 lseh gS] fiQj P ls A dh
nwjh gS %

SSC CHSL 18/03/2020 (Morning)

(a) 8 cm (b) 12 cm

(c) 18 cm (d) 10 cm

76. In a circle, chords AB and CD insected
each other at E. If CD = 18 cm, DE = 6
cm and AE = 18 cm, then BE = ?

,d o`Ùk esa thok AB vkSj CD ,d&nwljs dks E ij
dkVrs gSaA ;fn CD = 18 lseh] DE = 6 lseh] rFkk
AE = 18 lseh gS] rks BE = ?

SSC CHSL 2 July 2019 (Evening)

(a) 6 cm (b) 8 cm

(c) 3 cm (d) 4 cm

77. AB and CD are two chords of a circle
which intersect at a point O inside the
circle. It is given that, AB = 10 cm, CO =
1.5 cm and DO = 12.5 cm. What is the
ratio between the larger and smaller
among AO and BO?

AB vkSj CD ,d o`Ùk dh nks thok,a gSa tks o`Ùk ds
Hkhrj ,d fcUnq O ij ,d&nwljs dks dkVrh gSA ;g
fn;k gqvk gS fd AB = 10 lseh] CO = 1.5 lseh
vkSj DO = 12.5 lseh gS] rks AO vkSj BO esa cM+s
rFkk NksVs ds chp D;k vuqikr gS\

SSC CHSL 11 July 2019 (Morning)

(a) 7 : 3 (b) 3 : 2

(c) 3 : 1 (d) 4 : 1

78. Two chords AB and CD of a circle
intersect at a point P inside the circle. If
AB = 7 cm, PC = 2 cm and AP = 4 cm,
then CD is equal to :

,d o`Ùk dh nks thok,¡ AB vkSj CD o`Ùk ds Hkhrj
fcUnq P ij ,d&nwljs dks dkVrh gSA ;fn AB = 7

lseh] PC = 2 lseh vkSj AP = 4 gS] rks CD fdlds
cjkcj gksxk\

SSC CGL 11 June 2019 (Evening)

(a) 6 cm (b) 8 cm

(c) 4 cm (d) 5 cm

Type-8

79. There are two circles of radius 5 cm and
3 cm respectively. The distance between
their centres is 10 cm. The length (in cm)
of a transverse common tangent is :

f=kT;k 5 lseh vkSj f=kT;k 3 lseh okys nks o`Ùk gSaA
muds dsUnzksa ds chp dh nwjh 10 lseh gSA vuqizLFk
mHk;fu"B Li'kZ js[kk dh yackbZ (lseh esa) Kkr djsaA

SSC CHSL 8 July 2019 (Morning)

(a) 9 (b) 6

(c) 8 (d) 10

80. Two circles of diameter 4.8 cm and 8 cm
are such that the distance between their
centres is 6.5 cm. What is the length of
a common tangent to the circles that
does not intersect the line joining the
centres ?

O;kl 4-8 lseh rFkk O;kl 8 lseh okys nks o`Ùk bl
izdkj gSa fd muds dsUnzksa ds chp dh nwjh 6-5 lseh
gSA bu o`Ùkksa dh mHk;fu"B Li'kZ js[kk dh yackbZ kkr
djsa tks dsUnzksa dks tksM+us okyh js[kk dks ugha dkVrh
gS\

SSC CHSL 10 July 2019 (Morning)

(a) 6.3 cm (b) 6.2 cm

(c) 6.1 cm (d) 6.0 cm

81. The distance between the centre of two
circles of radius 4 cm and 2 cm is 10 cm.
The length (in cm) of a transverse
common tangent is :

f=kT;k 4 lseh rFkk 2 lseh okys nks o`Ùkksa ds dsUnzksa ds
chp dh nwjh 10 lseh gSA vuqizLFk mHk;fu"B Li'kZ
js[kk dh yackbZ (lseh esa) Kkr djsaA

SSC CHSL 8 July 2019 (Afternoon)

(a) 10 (b) 6

(c) 8 (d) 4
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82. The distance between the centre of two
circles of radius 3 cm and 2 cm is 13 cm.
The length (in cm) of a transverse
common tangent is :

f=kT;k 3 lseh rFkk 2 lseh okys nks o`Ùkksa ds dsUnzksa ds
chp dh nwjh 13 lseh gSA vuqizLFk mHk;fu"B Li'kZ
js[kk dh yackbZ (lseh esa) Kkr djsaA

SSC CHSL 8 July 2019 (Evening)

(a) 8 (b) 10

(c) 12 (d) 6

83. The distance between the centre of two
circles of radius 2.5 cm each is 13 cm.
The length (in cm) of a transverse
common tangent is :

f=kT;k 2-5 lseh (çR;sd) okys nks o`Ùkksa ds dsUnzksa ds
chp dh nwjh 13 lseh gSA ,d vuqizLFk mHk;fu"B Li'kZ
js[kk dh yackbZ Kkr djsaA

SSC CHSL 9 July 2019 (Morning)

(a) 6 (b) 12

(c) 8 (d) 10

84. The distance between the centre of two
circles of radius 6 cm each is 13 cm. The
length (in cm) of a transverse common
tangent is :

f=kT;k 6 lseh (çR;sd) okys nks o`Ùkksa ds dsUnzksa ds
chp dh nwjh 13 lseh gSA ,d vuqizLFk mHk;fu"B Li'kZ
js[kk dh yackbZ gS %

SSC CGL 9 July 2019 (Afternoon)

(a) 10 (b) 12

(c) 5 (d) 6

85. Two circles of diametger 2 cm and 5.6 cm
are such that the distance between their
centres is 8.2 cm. What is the length of
a common tangent to the circles that
does not intersect the line joining the
centre?

2 lseh vkSj 5-6 lseh O;kl okys nks o`Ùk bl izdkj gSa
fd muds dsUnzksa ds chp dh nwjh 8-2 lseh gSA bu
o`Ùkksa dh mHk;fu"B Li'kZ js[kk dh yackbZ Kkr djsa tks
dsUnzksa dks tksM+us okyh js[kk dks dkVrh ugha gS\

SSC CGL 10 July 2019 (Afternoon)

(a) 8.4 cm (b) 7.2 cm

(c) 8 cm (d) 6.4 cm

86. Two circles of radii 8 cm and 6 cm touch
each other extermally. Thelength of the
direct common tangent is :

8 lseh rFkk 6 lseh f=kT;kvksa okys nks o`Ùk ,d&nwljs
dks ckgj ls Li'kZ djrs gSaA izR;{k mHk;fu"B Li'kZ
js[kk dh yackbZ fdruh gS\

SSC CGL 6 March 2020 (Evening)

(a) 13.86 (b) 20

(c) 24 (d) 10.12

87. Two circles of radii 20 cm and 5 cm
respectively, touch each other externally
at the point P, AB is the direct common
tangent of these two circles of centres R
and S, respectively. The length of AB is
equal to :

nks o`Ùk ftudh f=kT;k,¡ Øe'k% 20 lseh vkSj 5 lseh
gS] fcUnq P ij cká :i ls ,d&nwljs dks Li'kZ djrs
gSaA  AB, dsUnz R vkSj S okys nks o`Ùkksa ds izR;{k
lkekU; Li'kZjs[kk gSA AB dh yackbZ gS %

SSC CHSL 19/03/2020 (Afternoon)

(a) 15 cm (b) 5 cm

(c) 10 cm (d) 20 cm

88. The distance between the centres of two
equal circles each of radius 4 cm is 17
cm. The length of a transverse tangent is
:

nks leku o`Ùkksa ds dsUnzksa ds chp dh nwjh] çR;sd dh
f=kT;k 4 lseh vkSj 17 lseh gSA ,d vuqizLFk Li'kZjs[kk
dh yackbZ gS %

SSC CHSL 19/03/2020 (Afternoon)

(a) 15 cm (b) 16 cm

(c) 14 cm (d) 19 cm

89. Two circles of radius 15 cm and 37 cm
intersect each other at the points A and
B. If the length of common chord is 24
cm, what is the distance (in cm) between
the Centres of the circles?

15 lseh vkSj 37 lseh f=kT;k okys nks o`Ùk fcUnq A

vkSj B ij ,d&nwljs dks izfrPNsfnr djrs gSaA ;fn
mHk;fu"B thok dh yackbZ 24 lseh gS] rks o`Ùk ds
dsUnzksa ds chp dh nwjh (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 45

(b) 42

(c) 44

(d) 40

90. Two circle of raddi 10 cm and 8 cm
interesect at the point P and Q. If PQ =
12 cm and the distance between the
centres of the circle is x cm. The value
of x (correct to one decimal place) is :

f=kT;k 10 lseh vkSj 8 lseh ds nks o`Ùk ,d&nwljs dks
fcUnq P rFkk Q ij dkVrs gSaA ;fn PQ = 12 lseh gS
rFkk o`Ùkksa ds dsUnz ds chp dh nwjh x lseh gS] rks x
dk eku (,d n'keyo LFkku rd) Kkr djsaA

SSC CGL 4 June 2019 (Afternoon)

(a) 13.9

(b) 14.8

(c) 13.3

(d) 12.8
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91. Two circles of radius 15 cm and 12 cm
intersect each other and the length of
their common chord is 18 cm. What is the
distance (in cm) between their centres?

15 lseh rFkk 12 lseh f=kT;k okys nks o`Ùk ,d&nwljs
dks dkVrs gSa rFkk mudh mHk;fu"B thok dh yackbZ
18 lseh gSA muds dsUnzksa ds chp dh nwjh Kkr djsaA

SSC CHSL 2 July 2019 (Morning)

(a) 18+ 7

(b) 15+ 7

(c) 12+2 7

(d) 12+3 7

92. Two circle of radii 5 cm and 8 cm
intersect at the points A and B. If AB = 8
cm and the distance between the centre
of two circles is x cm, then the value of
x (to the closest integer) is

f=kT;k 5 lseh vkSj 8 lseh okys nks o`Ùk ,d nwljs dks
fcUnq A rFkk B ij dkVrs gSaA ;fn AB = 8 lseh gS
vkSj nksuksa o`Ùkksa ds dsUnzksa ds chp dh nwjh x lseh gS]
rks x dk eku (fudVre iw.kk±d esa) Kkr djsaA

SSC CHSL 4 July 2019 (Afternoon)

(a) 8 (b) 10

(c) 9 (d) 11

93. Two circle of radii 7 cm and 9 cm
intersect at the points A and B. If AB = 6
cm and the distance between the centre
of two circles is x cm, then the value of
x (to the closest integer) is

f=kT;k 7 lseh vkSj 9 lseh okys nks o`Ùk ,d nwljs dks
fcUnq A rFkk B ij dkVrs gSaA ;fn AB = 6 lseh gS
vkSj nksuksa o`Ùkksa ds dsUnzksa ds chp dh nwjh x lseh gS]
rks x dk eku (fudVre iw.kk±d esa) Kkr djsaA

SSC CGL 4 July 2019 (Evening)

(a) 10 (b) 15

(c) 14 (d) 12

94. If two equal circles whose centres are O
and O intersect each other at the point
A and B, OO = 12 cm and AB = 16 cm,
then radius of the circle is :

;fn nks cjkcj òÙk ftuds dsUnz O rFkk O gS] ,d&nwljs
dks fcUnq A rFkk B ij dkVrs gSa rFkk OO = 12

lseh ,oa AB = 16 lseh gS] rks o`Ùk dh f=kT;k Kkr
djsaA

SSC CPO 16 March 2020 (Evening)

(a) 15 cm

(b) 10 cm

(c) 14 cm

(d) 12 cm

95. Two circle of radii 7 cm and 5 cm
intersect each other at A and B, the
distance between their centres is 10 cm.
The length (in cm) of the common chord
AB is :

nks òÙk ftudh f=kT;k,¡ 7 lseh vkSj 5 lseh gS] ,d&nwljs
dks A vkSj B ij izfrPNsn djrs gSaA muds dsUnzksa ds
chp dh nwjh 10 lseh gSA mHk;fu"B thok AB dh
yackbZ (lseh esa) fdruh gS\

SSC CGL 4 March 2020 (Evening)

(a)
2 66

5
(b)

4 66

5

(c)
2 74

5
(d)

3 74

5

96. The circle of same radius 13 cm intersect
each other at A and B. If AB = 10 cm, then
the distance between their centres is :

leku f=kT;k 13 lseh ds o`Ùk A vkSj B ij ,d&nwljs
dks dkVrs gSaA ;fn AB = 10 lseh gS] rks muds dsUnzksa
ds chp dh nwjh gS %

SSC CHSL 21/10/2020 (Afternoon)

(a) 18 cm (b) 12 cm

(c) 24 cm (d) 26 cm

97. Two circles of radii 18 cm and 16 cm
intersect each other and the length of
their common chord is 20 cm. What is the
distance (in cm) between their Centres?

18 lseh vkSj 16 lseh f=kT;k okys nks o`Ùk ,d&nwljs
dks izfrPNsfnr djrs gSa vkSj mudh mHk;fu"B thok
dh yackbZ 20 lseh gSA muds dsUnzksa ds chp dh nwjh
(lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 4 14 + 2 39

(b) 4 10 + 2 39

(c) 4 14 – 2 39

(d) 4 10 – 2 39

Type-9

98. ABCD is a cyclic quadrilateral in which
A = 67º and B = 92º. What is the
difference between the measure of C and
D ?

ABCD ,d pØh; prqHkqZt gS ftlesa A = 67º vkSj
B = 92º gSA C vkSj D ds eki esa varj gS %

SSC CGL 6 June 2019 (Morning)

(a) 29º (b) 27º

(c) 19º (d) 25º
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99. ABCD is a cyclic quadrilateral whose
diagonals intersect at P. If AB = BC, DBC
= 70º and BAC = 30º, then the measure
of PCD is :

ABCD ,d pØh; prqHkqZt gS ftlds fod.kZ ,d&nwljs
dks P ij dkVrs gSaA ;fn If AB = BC, DBC =

70º vkSj BAC = 30º gS] rks PCD dk eki D;k
gS\

SSC CGL 6 June 2019 (Morning)

(a) 35º (b) 50º

(c) 55º (d) 30º

100. PQRS is a cyclic quadrilateral. If angle P
is three times the angle R and angle S is
five times the angle Q, then the sum of
angles Q and R is :

PQRS ,d pØh; prqHkqZt gSA ;fn dks.k P dks.k R
dk frxquk gS rFkk dks.k S dks.k Q ls ik¡p xquk gS]
rks dks.k Q vkSj R dk ;ksx Kkr djsaA

SSC CGL 6 June 2019 (Evening)

(a) 65º (b) 70º

(c) 75º (d) 72º

101. The vertices A, B, C and D of a
quadrilateral ABCD lie on a circle. A is
thrice of C and D is twice B. What is
the difference between the measures of
B and C?

fdlh prqHkqZt ABCD ds 'kh"kZ fcUnq A, B, C vkSj D
,d o`Ùk ij fLFkr gSA A, C ls frxquk gS rFkk
D, B ls nksxquk gSA B vkSj C ds eku esa D;k
varj gS\

SSC CHSL 2 July 2019 (Afternoon)

(a) 15º (b) 28º

(c) 18º (d) 20º

102. ABCD is a cyclic quadraliteral such that
its sides AD and BC produced meet at P
and sides AB and DC produced meet at
Q. If A = 62º and ABC = 74º, then the
difference between P and Q is :

ABCD ,d pØh; prqHkqZt gS tks bl izdkj gS fd
bldh Hkqtkvksa AD vkSj BC dks c<+kus ij os P ij
feyrh gSa rFkk AB vkSj DC dks c<+kus ij os Q ij
feyrh gSaA ;fn A = 62º vkSj ABC = 74º gS] rks
P vkSj Q ds chp varj Kkr djsaA

SSC CHSL 4 July 2019 (Morning)

(a) 44º (b) 23º

(c) 32º (d) 38º

103. In a circle with centre O, AB is a diameter
points C, D and E are on the circle on one
side of AB such that ABEDC is a
pentagon. The sum of ACD and DEB
is :

dsUnz O okys ,d o`Ùk esa AB O;kl gSA fcUnq C, D

rFkk E, AB ds ,d rjiQ o`Ùk ij bl izdkj fLFkr gS
fd ABEDC ,d iapHkqt gSA ACD vkSj DEB

dk ;ksx Kkr djsaA
SSC CHSL 4 July 2019 (Morning)

(a) 240º (b) 225º

(c) 270º (d) 180º

104. In a circle, chords AD and BC meet at a

point E outside the circle. If BAE = 76º

and ADC = 102º, then AEC is equal

to :

,d o`Ùk esa thok,¡ AD vkSj BC o`Ùk ds ckgj fLFkr
fcUnq E ij feyrh gSA ;fn BAE = 76º vkSj ADC

= 102º gS] rks AEC fdlds cjkcj gS\
SSC CHSL 11 Jully 2019 (Evening)

(a) 28º (b) 25º

(c) 24º (d) 26º

105. A quadrilateral ABCD is inscribed in a

circle with centre O. If BOC = 92º and

ADC = 112º, then ABO is equal to :

,d prqHkqZt ABCD fdlh o`Ùk ds Hkhrj fLFkr gS
ftldk dsUnz O gSA ;fn BOC = 92º vkSj ADC

= 112º gS] rks ABO Kkr djsaA
SSC CHSL 11 Jully 2019 (Evening)

(a) 22º (b) 24º

(c) 28º (d) 26º

106. OABC is a quadrilateral, where O is the

centre of a circle and A, B, C are points

in the circle, such that ABC = 120º.

What is the ratio of the measure of AOC

to that of OAC ?

OABC ,d prqHkqZt gS tgk¡ O o`Ùk dk dsUnz gS rFkk
A, B, C o`Ùk ij fLFkr ,sls fcUnq gSa fd ABC =

120º gSA AOC rFkk OAC ds eki esa vuqikr Kkr
djsaA

SSC CHSL 10 Jully 2019 (Evening)

(a) 3 : 1 (b) 4 : 1

(c) 2 : 1 (d) 3 : 2

107. In a circle with centre O, an arc ABC

subtends an angle of 140º at the centre

of the circle. The chord AB is produced

to point P. Then CBP is equal to :

dsUnz O okys ,d o`Ùk esa pki ABC o`Ùk ds dsUnz ij
140º dk dks.k varfjr djrh gSA thok AB dks fcUnq
P rd c<+k;k tkrk gSA CBP dk eku Kkr djsaA

SSC CGL 12 June 2019 (Evening)

(a) 40º (b) 70º

(c) 80º (d) 50º
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108. ABCD is a cyclic quadrilateral such that
AB is the diameter of the circle

circumscribing it and ADC = 129º. Then
BAC is equal to :

ABCD ,d pØh; prqHkqZt gS fd AB bls ?ksjus okys
o`Ùk dk O;kl gS rFkk ADC = 129º gSA BAC

dk eku Kkr djsaA
SSC CGL 13 June 2019 (Evening)

(a) 51º (b) 49

(c) 61º (d) 39º

109. PQRS is a cyclic quadrilateral. If P is
four times R and S is three times Q,

then the sum of Q and R is :

PQRS ,d pØh; prqHkqZt gSA ;fn P, R ls pkj
xquk gS rFkk S, Q ls rhu xquk gS] rks Q vkSj
R dk ;ksx Kkr djsaA

SSC CHSL 3 July 2019 (Morning)

(a) 77º (b) 73º

(c) 81º (d) 86º

110. Side AB and CD of a cyclic quadrilateral
ABCD are produced to meet at E and sides

AD and BC are produced to meet at F. If
ADC = 75º and BEC = 52º, then the
difference between BAD and AFB =?

,d pØh; prqHkqZt ABCD dh Hkqtkvksa AB vkSj CD

dks c<+k;k tkrk gS tks E ij fyrh gS rFkk Hkqtkvksa
AD vkSj BC dks c<+k;k tkrk gS tks F ij feyrh gSA
;fn ADC = 75º vkSj BEC = 52º gS] rks BAD

rFkk AFB ds chp D;k varj gS\
SSC CGL 5 March 2020 (Morning)

(a) 23º (b) 22º

(c) 31º (d) 21º

111. ABCD is a cyclic quadrilateral in which
side AD and BC are produced to meet at

P, and side DC and AB meet at Q when
produced. If A = 60º and ABC = 72º
then DPC – BQC = ?

ABCD ,d pØh; prqHkqZt gS ftlesa Hkqtkvksa AD

rFkk BC dks c<+k;k tkrk gS tks P ij feyrh gS rFkk
Hkqtkvksa  DC vkSj AB dks c<+k;k tkrk gS tks Q ij
feyrh gSA ;fn A = 60º vkSj ABC = 72º gS]
rks DPC – BQC = ?

SSC CGL 5 March 2020 (Afternoon)

(a) 24º (b) 40º

(c) 36º (d) 30º

112. In the following figure (not to the scale)
ACB = 135º and the radius of the circle

is 2 2  cm, then the length of the chord

AB is :

;fn fuEufyf[kr vkÑfr (;g iSekus ds vuqlkj ugha
gS) esa ACB = 135º gS rFkk o`Ùk dh f=kT;k 2 2

lseh gS] rks thok AB dh yackbZ fdruh gksxh\

AB

C

D

SSC CHSL 13/10/2020 (Afternoon)

(a) 3 2  cm (b) 4 2  cm

(c) 4 cm (d) 6 cm

113. In the given figure, chords AD and BC in
the circle, are extended to E and F

redspectively. If CDE = 85º, DCF = 94º,
then the value of ABF + EAB is :

nh xbZ vkÑfr esa xksys esa thok AD vkSj BC Øe'k%
E vkSj F rd foLrkfjr gSA ;fn CDE = 85º,

DCF = 94º gS] rks ABF + EAB dk eku gS &

A B

CD

E F

SSC CHSL 14/10/2020 (Afternoon)

(a) 182º (b) 194º

(c) 179º (d) 168º

114. Side AB and DC of a cyclic quadrilateral

ABCD are produced to meet at E and sides
AD and BC are produced to meet at F. If
ADC = 78° and BEC = 52°, then the

measure of AFB is:

pØh; prqHkqZt ABCD dh Hkqtk,¡ AB vkSj DC c<+kbZ
tkus ij E ij feyrh gS vkSj Hkqtk,¡ AD vkSj BC

c<+kbZ tkus ij F ij feyrh gSA ;fn ADC = 78°

vkSj BEC = 52° gS] rks AFB dk eku Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 26º (b) 32º

(c) 30º (d) 28º
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115. ABCD is a cyclic quadrilateral. Diagonals
BD and AC intersect each other at E. If
BEC = 138° and ECD = 35°, then what
is the measure of BAC?

ABCD ,d pØh; prqHkqZt gSA fod.kZ js[kk,¡ BD vkSj
AC ,d&nwljs dks E ij izfrPNsfnr djrh gSA ;fn
BEC = 138° vkSj ECD = 35° gS] rks BAC

dk eki Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 133º (b) 103º

(c) 113º (d) 123º

116. AB is a diameter of a circle. C and D are
points on the opposite sides of the
diameter AB, such that ACD = 25°. E is
a point on the minor arc BD. Find the
measure of BED (in degrees).

AB ,d o`Ùk dk O;kl gSA fcUnq C vkSj D O;kl ds
foijhr i{kksa ij bl izdkj fLFkr gS fd ACD =

25° gSA E y?kq pki BD ij fLFkr ,d fcUnq gSA
BED dk eki (fMxzh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 115 (b) 105

(c) 130 (d) 125

117. In a circle with center O, AB is a diameter
and CD is a chord such that ABC = 34°
and CD = BD. What is the measure of
DBC?

O dsUnz okys o`Ùk esa] O;kl AB vkSj thok CD bl
izdkj gS fd ABC = 34° vkSj CD = BD gSA DBC

dh eki Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 30º (b) 24º

(c) 32º (d) 28º

118. In the following figure, if angles ABC =
95º,  FED = 115º (not to scale). The the
angle APC is equal to :

fuEufyf[kr vkÑfr esa] ;fn ABC = 95º,  FED

= 115º (iSekus ds vuqlkj ugha) gS rks APC dk
eku D;k gksxk\

D

A

F

C

P

E

B
SSC CHSL 13/10/2020 (Morning)

(a) 120º (b) 150º

(c) 135º (d) 155º

119. PQRS is a cyclic quadrilateral in which PQ
= x cm, QR = 16.8 cm, RS = 14 cm and
PS = 25.2 cm and PR bisects QS. What is
the value of x ?

PQRS ,d pØh; prqHkqZt gS ftlesa PQ = x lseh]
QR = 16.8 lseh]  RS = 14 lseh vkSj PS = 25.2

lseh gSA PR, QS dks lef}Hkkftr djrk gSA x dk
eku fdruk gS\

SSC CGL 3 March 2020 (Afternoon)

(a) 18 (b) 21

(c) 28 (d) 24

120. ABCD is a cyclic quadralateral in which
AB = 16.5 cm, BC = x cm, CD = 11 cm,
AD = 19.8 cm and BD is bisected by AC
at O. What is the value of x?

ABCD ,d pØh; prqHkqZt gS ftlesa AB = 16.5

lseh] BC = x lseh] CD = 11 lseh AD = 19.8

lseh gS rFkk BD dks AC ds }kjk O ij lef}Hkkftr
fd;k tkrk gSA x dk eku D;k gS\

SSC CGL 4 March 2020 (Morning)

(a) 12.4 cm

(b) 13.8 cm

(c) 13.2 cm

(d) 12.8 cm

Type-10 (Miscellaneous)

121. The area of a sector of a circle with centre
angle 60º is A. The circumference of the
circle is C. Then A is equal to :

,d o`Ùk ds o`Ùk[kaM dk {ks=kiQy A gS ftldk dsUnzh;
dks.k 60º gSA bl o`Ùk dh ifjf/ C gSA A fdlds
cjkcj gS\

SSC CHSL 10 July 2019 (Evening)

(a)
2

6

c


(b)

2

18

c



(c)
2

24

c


(d)

2

4

c



122. In a circle with centre O, ACBO is a
parallelogram where C is a point on the
minor arc AB. Wghat is the measure of
AOB ?

dsUnz O okys ,d òÙk esa ACBO ,d lekukarj prqHkqZt
gSa ftlesa C NksVh pki AB ij fLFkr ,d fcUnq gSA
AOB dk eku Kkr djsaA

SSC CGL 6 June 2019 (Afternoon)

(a) 150º

(b) 100º

(c) 110º

(d) 120º
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123. The raddi of three concentric circles are
in the ratio 4 : 5 : 7. What is the ratio of
the area between the two inner circles to
that of between the two outer circles?

rhu ladsUnzh o`Ùkksa dh f=kT;k,¡ 4 % 5 % 7 ds vuqikr esa
gSaA nks vkarfjd o`Ùkksa ds chp ds {ks=kiQy rFkk nks
cká òÙkksa ds chp ds {ks=kiQy ds chp vuqikr Kkr djsaA

SSC CGL 6 June 2019 (Evening)

(a) 4 : 7

(b) 5 : 9

(c) 4 : 5

(d) 3 : 8

124. AB is a diameter of a circle with centre
O. CB is a tangent to the circle at B. AC
intersects the circle at G. If the radius of
the circle is 6 cm and AG = 8 cm, then
the length of BC is :

AB ,d o`Ùk dk O;kl gS ftldk dsUnz O gSA CB, B

ij o`Ùk dh Li'kZ js[kk gSA AC o`Ùk dks G ij dkVrk
gSA ;fn o`Ùk dh f=kT;k 6 lseh gS rFkk AG = 8 lseh
gS] rks BC dh yackbZ Kkr djsaA

SSC CGL 7 June 2019 (Morning)

(a) 2 5  cm

(b) 6 6  cm

(c) 2 6  cm

(d) 6 5  cm

125. In a circle with centre O, an arc ABC
subtends an angle of 132º at the centre
of the circle. Chord AB is produced to
point P. Then CBP is equal to :

dsUnz O okys ,d o`Ùk esa] pki ABC o`Ùk ds dsUnz ij
132º dk dks.k varfjr djrk gSA thok AB dks fcUnq
P rd c<+k;k tkrk gS] rks CBP dk eku D;k gksxk\

SSC CGL 12 June 2019 (Afternoon)

(a) 48º (b) 68º

(c) 66º (d) 76º

126. In a circle with centre O, AD is a diameter
and AC is a chord. B is a point on AC,
such that OB = 5 cm and OBA = 60º. If
DOC = 60º, then what is the length of
BC?

dsUnz O okys ,d òÙk esa] AD O;kl gS rFkk AC thok
gSA B, AC ij fLFkr fcUnq gS tks bl izdkj gS fd
OB = 5 lseh rFkk OBA = 60º gSA ;fn DOC =

60º gS rks BC dh yackbZ Kkr djsaA
SSC CGL 1 July 2019 (Evening)

(a) 4 cm (b) 3 5  cm

(c) 5 3  cm (d) 5 cm

127. Tangents AB and AC are drawn to a circle
from a point A, such that BAC = 40º. A
chord CP is drawn parallel to BA. The
measure of CBP is :

,d fcUnq A ls ,d òÙk ij AB vkSj AC Li'kZ js[kk,a
bl izdkj [khaph tkrh gS fd BAC = 40º gSA BA

ds lekukarj ,d thok CP [khaph tkrh gSA CBP

dk eku gS %
SSC CGL 1 July 2019 (Evening)

(a) 55º (b) 45º

(c) 35º (d) 40º

128. A unique circle can always be drawn
through x number of given non-collinear
points, then x must be :

,d vf}rh; òÙk ges'kk x la[;k esa fn, x, xSj&lajs[kh;
fcUnqvksa ls [khapk tk ldrk gSA x dk eku gksuk pkfg,
%

SSC CPO 16 March 2019 (Evening)

(a) 2 (b) 3

(c) 4 (d) 1

129. In a circle with centre O, ABDC is a cyclic
quadrilateral with AB as a diameterand
BD produced meet at E. If CED = 70º,
then what is the measure of COD?

dsUnz O okys ,d òÙk esa] ABDC ,d pØh; prqHkqZt
gS ftlesa AB o`Ùk dk O;kl gSA AC vkSj BD dks
c<+k;k x;k tks E ij feyrs gSaA ;fn CED = 70º

gS] rks COD dk eku Kkr djsaA
SSC CHSL 3 July 2019 (Afternoon)

(a) 45º (b) 60

(c) 30º (d) 40º

130. In a stadium an athlete is running on a
circular parth with uniform speed during
a practice session. The angle covered by
him during one second is found to be 10º
by a coach observing him from the centre
of the circular track. What would be the
measure of angle (in degrees) described by
the athlete by an observer standing on
the circle?

fdlh LVsfM;e esa ,d ,FkyhV vH;kl l=k ds nkSjku
,d leku pkys ls òÙkkdkj iFk ij nkSM+ jgkgSA òÙkkdkj
iFk ds dsUnz ls mls ns[k jgs ,d dksp dh vk¡[kksa esa
mlds (,FkyhV) }kjk ,d lsd.M esa r; fd;k x;k
dks.k 10º gSA òÙk ij [kM+s izs{kd dh vk¡[kksa ls ,FkyhV
}kjk cuk, x, dks.k dk eki (fMxzh esa) D;k gksxk\

SSC CHSL 9 Jully 2019 (Evening)

(a) 5

(b) It depends on the exact position of
the observer onthe circle

(c) 10 (d) 20
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131. In a circle, PQ and RS are two diameters
that are perpendicular to each other. Find
the length of chord PR.

,d o`Ùk esa PQ vkSj RS nks O;kl gSa tks ,d&nwljs
ij yEc gSaA thok PR dh yackbZ Kkr dhft,A

SSC CHSL 14/10/2020 (Evening)

(a)
PQ

2
(b) 2PQ

(c) 2 PQ (d)
PQ

2

132. If the diameter of circle bisects each of

the two chords of the circle, then both

the chords :

;fn òÙk dk O;kl o`Ùk ds nks thok dks cjkcj fgLlksa
esa dkVrk gS rks nksuksa thok %

SSC CHSL 16/10/2020 (Morning)

(a) intersect at 90º

(b) are parallel to each other

(c) intersect at 30º

(d) Intersect at 60º

133. In the given figure, if OQ = QR, then the

value of m is :

nh xbZ vkÑfr esa ;fn OQ = QR gS] rks m dk eku
D;k gksxk\

 

P
Q

RS
O

mº nº

SSC CHSL 16/10/2020 (Morning)

(a) 3nº (b) nº

(c) 2nº (d) 4nº

134. In a circle with centre O, AD is a diameter

and AC is a chord. Point B is on AC such

that OB = 7 cm and OBA = 90°. If DOC

= 60°, then what is the length of BC (in

cm)?

O dsUnz okys o`Ùk esa AD O;kl gS vkSj AC thok gSA
AC ij fcUnq B bl izdkj gS fd OB = 7 lseh vkSj
OBA = 90°. ;fn DOC = 60° gS] rks BC dh
yackbZ (lseh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 7

(b) 9

(c) 5

(d) 3.5

135. ABC is inscribed in a circle with center
O, such that ACB = 115°. O is joined to
A. What is the measure of OAB?

ABC dsUnz O okys ,d o`Ùk esa bl izdkj vafdr gS
fd ACB = 115° gSA O dks A ls feyk;k x;k gSA
OAB dk eki D;k gS\

SSC CGL 2020 (Tier-I)

(a) 30º (b) 20º

(c) 25º (d) 35º

136.  Points P, Q, R, S and T lie in this order
on a circle with centre O. If chord TS is
parallel to diameter PR and RQT = 58°,
then find the measure (in degrees) of
RTS.

fcUnq P, Q, R, S vkSj T blh Øe esa dsUnz O okys
òÙk ij fLFkr gSaA ;fn thok TS, O;kl PR ds lekukarj
gS vkSj RQT = 58° gS] rks RTS dk eki (fMxzh
esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 58 (b) 29

(c) 45 (d) 32

137. Chord AB of a circle of radius 10 cm is
at a distance 8 cm from the centre O. If
tangents drawn at A and B intersect at P,
then the length of the tangent AP (in cm)
is:

10 lseh f=kT;k okys o`Ùk dh thok AB dsUnz O ls 8
lseh dh nwjh ij fLFkr gSA ;fn A vkSj B ij [khaph
xbZ Li'kZjs[kk,¡ P ij izfrPNsfnr gSa] rks Li'kZjs[kk A

dh yackbZ (lseh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 4

(b) 15

(c) 3.75

(d) 7.5

138. Points A and B are on a circle with centre
O. Point C is on the major are AB. If OAC
= 35° and OBC = 45°, then what is the
measure (in degree) of the angle
subtended by the minor are AB at the
centre?

A vkSj B, dsUnz O okys o`Ùk ij fLFkr fcUnq gSaA fcUnq
C, nh?kZ pki AB ij fLFkr gSA ;fn OAC = 35°

vkSj OBC = 45° gS] rks y?kq pki AB }kjk dsUnz
ij varfjr dks.k dk eki (fMxzh esa) Kkr djsaA

SSC CGL 2020 (Tier-I)

(a) 80º

(b) 70º

(c) 100º

(d) 160º
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139. In a circle with centre O and radius 13
cm, a chord AB is drawn. Tangents at A
and B intersect at P such that APB =
60°. If distance of AB from the centre O
is 5 cm, then what is the length (in cm)
of AP?

dsUnz O vkSj 13 lseh f=kt;k okys o`Ùk esa pki AB

[khapk tkrk gSA A vkSj B ij [khaph xbZ Li'kZ js[kk,¡]
P bl izdkj izfrPNsnr djrh gS fd APB = 60°

gSA ;fn dsUnz O ls AB dh nwjh 5 lseh gS] rks AP

dh yackbZ (lseh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 22 (b) 24

(c) 11 (d) 12

Answer Key

1.(d) 2.(d) 3.(d) 4.(a) 5.(a) 6.(a) 7.(b) 8.(a) 9.(b) 10.(c)

11.(c) 12.(a) 13.(a) 14.(b) 15.(d) 16.(b) 17.(a) 18.(d) 19.(b) 20.(a)

21.(b) 22.(a) 23.(d) 24.(c) 25.(b) 26.(c) 27.(d) 28.(a) 29.(b) 30.(c)

31.(d) 32.(d) 33.(d) 34.(b) 35.(a) 36.(d) 37.(d) 38.(c) 39.(c) 40.(b)

41.(d) 42.(a) 43.(b) 44.(c) 45.(b) 46.(a) 47.(a) 48.(c) 49.(b) 50.(b)

51.(c) 52.(b) 53.(b) 54.(d) 55.(c) 56.(c) 57.(b) 58.(c) 59.(b) 60.(d)

61.(c) 62.(b) 63.(b) 64.(a) 65.(a) 66.(a) 67.(c) 68.(d) 69.(d) 70.(d)

71.(b) 72.(c) 73.(d) 74.(a) 75.(a) 76.(d) 77.(c) 78.(b) 79.(b) 80.(a)

81.(c) 82.(c) 83.(b) 84.(c) 85.(c) 86.(a) 87.(d) 88.(a) 89.(c) 90.(c)

91.(d) 92.(b) 93.(b) 94.(b) 95.(b) 96.(c) 97.(a) 98.(d) 99.(b) 100.(c)

101.(a) 102.(c) 103.(c) 104.(d) 105.(b) 106.(b) 107.(b) 108.(d) 109.(c) 110.(c)

111.(c) 112.(c) 113.(c) 114.(d) 115.(b) 116.(a) 117.(d) 118.(b) 119.(b) 120.(c)

121.(c) 122.(d) 123.(d) 124.(d) 125.(c) 126.(d) 127.(d) 128.(b) 129.(d) 130.(a)

131.(d) 132.(b) 133.(a) 134.(a) 135.(c) 136.(d) 137.(d) 138.(d) 139.(b) 140.(c)

140. Points A, D, C, B and E are concyclic. If

AEC = 50° and ABD = 30°, then what

is the measure (in degrees) of CBD?

fcUnq A, D, C, B vkSj E ,d o`Ùkh; gSaA ;fn AEC

= 50° vkSj ABD = 30° gS] rks CBD dk eki

(fMxzh esa) Kkr djsaA
SSC CGL 2020 (Tier-I)

(a) 154

(b) 30

(c) 20

(d) 10
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